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General Instructions :

1.
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(5)
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Please read the instructions carefully.

This question paper consists of 21 questions in two sections : Section-A &
Section-B.

Section-A has objective type questions whereas Section-B contains
subjective type questions.

Out of the given (5 + 16 = 21) questions, a candidate has to answer
(5 + 10 = 15) questions in the allotted (maximum) time of 2 hours.

All questions of a particular section must be attempted in the correct
order.

Section A — Objective type questions (24 marks) :

(1)  This section has 05 questions.

(it) Marks allotted are mentioned against each question/part.

(iti) There is no negative marking.

(iv) Do as per the instruction given.

Section B - Subjective type questions (26 marks) :

(i)  This section has 16 questions.

(it) A candidate has to do 10 questions.

(iti) Do as per the instruction given.

(iv) Marks allotted are mentioned against each question/part.

Section — A
(Objective Type Questions)

Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4

@

List two characteristics of a good feedback system. 1

(i) Shankar is a bank manager. Increase in his salary and providing

incentives to him is incentive to boost his morale. 1
(a) non-financial (b) financial
(¢) remedial (d) restricted
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(iii) SETE YOI &, T : 1
(a) EERR (b) HiRET
(c) HHEERR (d) ETERR T AT
(iv) WTaTcHe YA @R H _ qun A=A h ] UgEH q”l Yy
HEATE | 1
(a) WTSTeRT, HTHTCRT (b) 3TcHfazaT, STTeAfevaTE

(c) ITcHfITE™, WTEE (d) wTETEET, JTHfIRETE
(v) < T 1 FGHE TAT 8, LT T hINed IUATT hidT &, T3 foam S=mT swtar &

T THFER! % fug A} aur ifgw i i ® | T8 B 1
() et (b)  wsigll T Forg
() veuH ) T AR

(vi) IS FfogaEae: 1

(a) s feaere Med

(b) TRATA feaardie Mew
(c) TR fedee Mew
(d) wreret federdie Mew

2. fewme 6 woi # & feredl 5 AT o ST T | 5x1=5
Q) fofm o s e T R 1
() TR (b) TR
(c) TG (d) efepaehd
() “haurfeaegmedmd_ UEHI % AU IKd FUATHHA 2 | 1
@ @ (o) =
© = @
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(111) Operating system is a : 1
(a) hardware (b) software
(¢) humanware (d) hardware and humanware

(iv) Emotional intelligence is the ability to identify and manage own

and of others. 1
(a) emotions, emotions (b) confidence, confidence
(¢) confidence, emotions (d) emotions, confidence

(v) Dev is running his own business, uses his skills, tries new ideas and

takes wise decisions and also bears the risks. Here Dev is ? 1
(a) Entrepreneur (b) Wage employed
(¢) Manager (d) Government official

(vi) The full form of SDGs is : 1

(a) Sustained Developed Goals

(b) Sustainable Development Goals
(¢) Socially Developed Goals

(d) Social Development Goals

2. Answer any 5 out of the given 6 questions. 5x1=5
(1) The party who draws the bills of exchange : 1

(a) Debtor (b) Creditor

(¢) Payee (d) Acceptor

(i1) ‘Cheques and Demand Draft’ can be presented to bank within

months. 1
(@) two (b) three
(c) six (d) nine
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(iii) @ﬁﬁmm%ﬁéwﬁwwaﬁi? 1
(a) 3medi (b) 3Rl
(c) 3Tera (d) R

(iv) I T I8 X FTEE HH W S F01 T ¢ Hohdl, P & - 1
(@) W (b) IR (38) &
(c) faferspex @ FeEwre

(v) AT TAT AN B PAA FHABIGRE __ HTEarg | 1
(a) FU-TI@ (b)
(© v o o (d) 3URH aTen

(vi) dEaNiHI T A IRFE A @R REAdE @l | 1
(a) < (b) 3y
) ¢ @ W=

3. feuww 6w 7 @ foR 5 el o ST T | 5x1=5

(i) ST (Visa)B8TH_____ W1 | 1
(a) T (b) TRREH
(c) o (&) ST

(i)  Frferferend gl 1w Hfg dHT T 2 | 1
(a) orgHTR (b) Tl
(0 IrgHifed @ st

(i) TeIE@HRAGET =~ RO AEACR | 1
() s (b) wpa
© 50% d 80%
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(111) Who should accept a bill of exchange ? 1
(a) Drawer (b) Drawee
(¢) Payee (d) Creditor

(1v) The interest rate below which banks cannot lend is called : 1
(a) Repo rate (b) Base rate
(¢) Statutory rate (d) Reverse Repo rate

(v) Principal amount and interest payment is obligation for : 1
(a) Lender () Bank
(c) RBI (d) Borrower

(vi) Loans payable in more than 5 years are called term loans. 1
(a) short (b) very short
(¢) long (d) medium

3. Answer any 5 out of the given 6 questions. bx1=5

(1) Visaisa card. 1
(a) National (b) Asian
(¢) European (d) International

(i1) Overdraft facility has a/an credit limit. 1
(a) estimated (b) permanent
(c) approved (d) unlimited

(111) In case of Cash Credit interest is charged on loan availed. 1
(a) actual (b) sanctioned
() 50% (d) 80%
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(v) 1% Th @ Hi T 371 T HLH HIS 3 | 1
(a) 8 ®) 10
) 11 (d 12

(v) SRR RIIIINE : 1
(a) SHIER (b) sTrrfaes
(€ U3 @) #fw

(vi) sk H AT o J=TH & feu BT HATTRIH B | 1
(a) T (b) =T
(c) dHaTE (d) =R

4. feuww 6 g 4 9 forgl 5 I3 & I | 5x1=5

() ‘IR TE H foqa w9 G 1
(a) Tet 23y Uig Tearic
(b) T 2TEH UG HeeTHe
(c) Toe e U deee
(d) Toret e ot geee

(i) HET O T B & fofu S A | 1
(a) HHRE (b) ==
() fEe (d) ==

(iii) 3 TH (BECS) &1 forgqa & 2 : 1
(a) sAfdeen foeafan fomen
(b) TR fFeatar faeen
(c) SFIoh hoiome ey
(d) ISR Hheret foren
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(1v) IFSC is an alphanumeric digit code. 1
(a) 8 (b) 10
(o 11 d 12
(v) The other name for Banker’s cheque 1
(a) Bank draft (b) Overdraft
(¢) Pay order (d) Demand Draft
(vi) For Locker operations in a bank is (are) required. 1
(a) One key (b) Two keys
(¢) Three keys (d) Four keys
Answer any 5 out of the given 6 questions. 5x1=5
(1) Write the full form of ‘RTGS’. 1
(a) Real Time Gross Settlement
(b) Royal Time Gross Settlement
(¢) Real Time Group Settlement
(d) Real Timing Gross Settlement
(i1) For issuing a demand draft banks charge : 1
(a) commission (b) discount
(¢) rebate (d) interest
(i11) ECS stands for 1
(a) Electric Clearing System
(b) Electronic Clearing System
(¢) Electronic Collection System
(d) Electronic Control System
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(iv) o8 GSA S WRd | oA &1 b1 b war e 1
(a) YW fiwrd S (b) Ie T 31 sfegan
(© IEIRIT (d) 3TTs it 3173 ¥ 3T
(v) seEE uifad g 1
(a) Sited ot aifer (b)  EHET ST AT
(c)  3fm <o wiferet (d) Tareea Sur utferst
(vi) 39 fafer =1 9w e g wiasy 6t 3 6 g1 & 3muR ® 7 S 61 g
i ot g1ty =61 3ot foRar ST 2 | 1
5. feuwy 6 weai H © fordl 5 Wi o I E | 5x1=5
() 9% i fgen! St s uifers 4 Trere fhan S g, HEATATE | 1
(2) @ (b) TTHTRA
() ) TR
() “ULIP TSR SHRgHT o e & | 1
(@) ¥ (b)
(0 9¥% (d) wufes
(iii) a8 Sfe sfar uifers frem gem d fafia sm %1 a2, HEAT 2 | 1
(a) e afereft (b) & Ao e
(c) aryeht ifereft (d) ATEfres aiferEt
(iv) X I ST 8 qEu U A A1 8 ? 1
(a) HTRat b) i
() ifHa d) =
) ST qifeTe Te™ HdT & AT 3 UTEshi ol S=dT @ | 1
() dif@ (b)  aThToITEY
(c) Hmhat d) T
(vi) S EHFARTRTIALE ? 1
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(1v) The body which regulates insurance sector in India is : 1
(a) RBI (b) UTI
(¢ IRDA (d) ICICI
(v)  Endowment policy is : 1
(a) Life Insurance Policy (b) Marine Insurance Policy

(¢) Fire Insurance Policy (d) Health Insurance Policy

(vi) Name the method that helps to determine financial loss due to loss of
human life which is based on assessment on the basis of loss of

future income. 1
5. Answer any 5 out of the given 6 questions. b5x1=5

(1) The person whose name is nominated in Life Insurance Policy is
called : 1
(a) owner (b) nomination
(c) nominee (d) agent

(1) ULIPs are subject to market risks. 1
(a) Money (b) Capital
(¢ Commodity (d) Primary

(111) The type of Life Insurance Policy in which there is provision of
regular income during old age is called : 1
(a) Endowment policy (b) Money back policy
(c) Annuity policy (d) Term policy

(iv) Who is the second party in case of Motor Vehicle Insurance ? 1
(a) Insurer (b) Insured
(¢) Nominee (d) Bank

v) provides the insurance policies and sells it to the customers. 1
(a) Insured (b) Annuitant
(¢) Insurer (d) Agent

(vi) What is meant by Cancellation of Insurance ? 1
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(feraroies ek & T9A)
USHTR hivreT W few 711 5 I3 0 @ fohegi 3 Al o I ST | Ik U9 i 3< 20-30
3reat § Y | 3x2=6
6. TugY <1 Tl fafd fafire swrent i B | 08 +1E @ ek @i | 2

7. SR quT ST & Sga AT Sl STTER TEH BT & T 9gd ¥ HHART 3TIW Hd &
Toh STl GaTEl o SHIUT 3¢ AT &I & | U8 T1E 31 gL i o IS QI UTH TS | 2

8. I YUMCH ot grer o foheal g alieni b1 T=ht G | 2

9.  3TY SATHR I HIAT aUT IHEY ek & TAH % foTu weh 3ot i aga & Hr h1
fToaTet =t 1T & | Tl febeell Q1 Sl o1 Sei shITT | 2

10. i@ srefeaewen § “feeprs: faem@” 1 STaIToN <Al §HEITST | 2

feu e 6 W 1 foregi 4 Wi o ST NI | T 99 1 3R 20-30 rsqi A €T |
4x2=8

11. “d &t fafr srem =7 < ga=msy | 2

12. “Sfh st gfE ¥ rgfera o Siftaw W) g1d 8 |7 1 319 T89d & 7 39 3T o gHefd o
HRT GIT | 2
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Section - B

(Subjective Type Questions)

Answer any 3 out of the given 5 questions on Employability Skills.

Answer each question in 20-30 words. 3x2=6

6. Right method of communication depends upon various factors. Mention

any two such factors. 2

7. “Banking and Insurance Sectors provide the opportunities to many but
many employees feel that they are having stress due to work pressure”.

Suggest two ways of overcoming such stress. 2

8.  List two ways to protect Computer System. 2

9. Every entrepreneur performs some important functions to run their

business effectively and efficiently. State any two such functions. 2
10. Explain the concept of “Sustainable development” in a green economy. 2
Answer any 4 out of the given 6 questions in 20-30 words each. 4%x2=8
11. Explain “Anti dated cheque”. 2

12. “Unsecured loans are risky from bank point of view.” Do you agree ? Give

reason in support of your answer. 2
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13. ‘TISUH &Y & @ AT 1 Seoid 1T | 2
14. ot o1 § ot wg e yomeft | &1 et < gt e | 2
15. e i gifer’ =1 vew fafau | 2

16. “gelenrd sryefia qen fomrerht &1t & 17 @ 319 39 FUF & Hewd § ¢ 3@ g #
At sfin aifereht <5 remm < fag 7w & & farg G | 2

few T 5 9ol § 9 foredl 3 ol o I ST | Tk T3 1 ITR 50-80 wrea] H ST |

3x4=12
17.  IGhTR Y= <h feheglt =t fersrorenat <61 g=ft e e fodi <1 st weia & Tmemsu | 4
18. “ITTSTehct SeE SfehT agd ST & |7 $ete Sifeht o Waed & s =k famg e | 4
19. Sftee s & HiE IR W i | 4
20. S FRUT % IS & ATH TUT &I BT BT Ieeid HIFAT | 4
21.  “fehed IUSTHR’ ! FHFATT | 4
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13. State two benefits of NEFT". 2
14. List two benefits from ECS debit system to Banks. 2
15. Write the significance of “Life Insurance Policies”. 2

16. “Accidents are unexpected and destructive.” Do you agree with this

statement ? In this context state two points of importance of Fire

Insurance Policy to the business. 2
Answer any 3 out of the given 5 questions in 50-80 words each. 3x4=12
17. List four features of negotiable instruments and explain any two in brief. 4

18. “Today internet banking is very popular.” Mention any four points of

importance of internet banking. 4
19. State any four advantages of having life insurance. 4
20. State two advantages and two limitations of bank loans. 4
21. Explain ‘Proximity Clause’. 4
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